Architectural
Door Accessories

Rockwood OH1000 Series Surface Mounted

Door Stops and Holders

ASSA ABLOY

The global leader in
door opening solutions

NOT TO SCALE
Butt Pivot A C ! Door Reinforcement
Tt. R S N
| i [
B~V JC | ,
| = -> i
- B Effective date: January 1,2017
Friction Adjustment foset Supercedes: All Previous
/. Pivot
o] ; NOTE: ASSA ABLOY reserves
69 1 A the right to make product
° Frame changes and is not responsible
\7% Reinforcement F i%r:::l?::;‘i)ﬁimplate EITOrS.
1 :
I’: ‘;‘/ B : 1 Center Hung template is current, please
' ' L | Pivot visit our website at
316" ; 3 : i - www.rockwoodmfg.com or
Do 5/16" 14_#7/16" } 11/" : The> |1/, call us at 800-458-2424
i i
|
i ‘ 14" |
‘<—H 3 /4 |
— : -
| L : 1 3/4"
CAUTION: ! ©@ -Q)) - ,i,
Note location - } ‘ |
of swing clear 5 ﬁ‘(l H—B | ‘ \
hinge centerline B - g : H : A [ C 1
to determine ih } |
"A" and "B" dimensions. +
. . Pivot
Reinforcement FASTENERS NOTE:

INSTALLATION INSTRUCTIONS

1. Select proper dimensions from chart on back side of page.

2. Locate "A" and "B" dimensions on door and frame.

3. Install jamb bracket on stop strip as shown.

4. Position channel on door with shock end located towards pivot.

Drill 5/16" dia. sex bolt hole, "A" dimension, 3/4" down from stop strip as shown.

5. Install channel on door with "A" dimension sex bolt. Locate "C" dimension sex bolt hole making sure
that channel is horizontal and parallel with stop strip. Drill 5/16" dia. sex bolt hole and finish installing holder.

NOTES:

Jamb: #12 x 11/2" Flat Head Wood Screws
or 712-24 x 1/2" Flat Head Machine Screws
Door: #12-24 x 11/2" Flat Head Machine
Screws and 5/16" @ Sex Bolts

* All hollow metal frames should be properly reinforced with 3/1¢" min. thickness x 12" min. length reinforcement plates.

* All hollow metal doors should be properly reinforced.
e All drilling and tapping to be done in field.

* Suggest mounting door stop or holder first and then other hardware to clear. Contact factory if interference results with other hardware.

e Jamb bracket to be on same centerline as channel.
* Intermediate bracket ¥12 x 3/4" Flat Head Machine Screw.

300 Main Street

Rockwood, Pennsylvania 15557

P: 800.458.2424 | F:800.922.9212

www.rockwoodmfg.com | orders.rockwood@assaabloy.com

Copyright © 2017, Rockwood Manufacturing Company, an ASSA ABLOY Group company. All rights reserved.
Reproduction in whole orin part without the express written permission of Rockwood Manufacturing Company is prohibited.

Page 1 0f2

T-OH1000 - 1/17



ASSA ABLOY is the global ASSA ABLOY

leader in door opening solutions,
dedicated to satisfying

end-user needs for security,
safety and convenience

Rockwood OH1000 Series Surface Mounted
Door Stops and Holders (cont.)

When using center hung pivots, check pivot manufacturer's compatibility prior to specifying.

1. See other side for installation instructions.
2. Select proper dimensions noted below.
3.Add 5/g" to "A" dimension for dead stop.
4. All dimensions given in inches.

Shock Bloc\k Shoclf Spring Slider Cam
Rl A4 £/ —~\ AN
1O [MITTee ~(] © ] )T
l_ / Z \
X ) Set Screw Plastic End Cap #2 j
Plastic End
Cap *1

TO SELECT DEGREE OF STOP R
Device Number

1. With a 3/16" hex key wrench, - ;

loosen the set screw in the shock block. 13/," - 21/," L0 it | LIBIRoRtS o A B ¢

3 9 13

2. Open door to desired degree of opening. Butts 1001S | 100IM 18- 24 Phe | 3 | 147
3. Slide shock block and spring until & 1002S | 1002M 24'/16 - 30 334 436 16

the spring touches slider cam. 3," Offset | 1003S | 1003M | 30 - 36 6hs | 5% | 17
4. Tighten set screw. Pivot [ 10045 [ 1004M | 36i6-42 [ 9% | 76 [ 207
5. Verify door opening position 1 ; :

and re-adjust, as needed. 1005S | 1005M 4216 - 48 13%4 816 22

*Butt mounting only.

Reversible, non-handed. DITEE T s

Stop Multi Door Opening A B C
1001S | 1001M 21-26', 1%/ 4 145/16
Center | 10005 | 100oM | 26%6-32 | 4 | 445 | 16
Hung

1003S | 1003M 3216 - 38 T 6 174
1004S | 1004M 3816 - 45 10%/s 7/ 2016
1005S | 1005M 45'6 - 48 14%/16 87/s 22

Page 2 of 2

300 Main Street

Rockwood, Pennsylvania 15557

P:800.458.2424 | F:800.922.9212

www.rockwoodmfg.com | orders.rockwood@assaabloy.com

Copyright © 2017, Rockwood Manufacturing Company, an ASSA ABLOY Group company. All rights reserved.
Reproduction in whole or in part without the express written permission of Rockwood Manufacturing Company is prohibited. T-OH1000 - 1/1 7



